Which of the following two months in a year
have same calendar?

(1) June and October

(2) April and November

(3) April and July

(4) October and December
Who among the following is not called a
liberal leader?

(1) Dadabhai Naoroji

(2) Gopal Krishna Gokhale

(3) Feroz Shah Mehta

(4) Bipin Chandra Pal

In which city was Bikaner Lok Parishad
founded in 193627

(1) Bombay

(2) Calcutta

(3) Madras

(4) Delhi

In which state Bedsa village was the centre of
Bhil activities under the leadership of Govind
Giri?

(1) Dungarpur

(2) Banswara

(3) Sirohi

(4) Idar

31

If 0.dcabdcabdcab............. =——, then the
1111

is: (a, b, ¢ and d are distinct

ad+bc
value of
a+c

digits not all of them are zero)

n 2

2 4

3) 6

@ 8
In a certain code language, ‘+’ means
means ‘X’, ‘X’ means ‘-’, ‘-’ means ‘+’. Wlth
reference to the above code language
consider the following three statements —
Statement I : 5x10-15+20+25+30 = 355
Statement II : 44-11+2x6+6+2-12 = 60
Statement III : (10-5)+50x(25%5)+40 = 50
Which statements are true?

(1) Only I and I1I
(2) OnlyII and III
(3) OnlyIlandII
(4) AL IIandII

6’6’

\én

waﬁﬁﬁwﬁfﬁaﬁﬁﬁzﬁ‘h%a’rqﬁrﬁ?ﬁr
Doy A BNTI?

1) o7 IR s

(2) d iR FgER X

@) 3 R g »

@) JFER AR foaR ™

freffid § @ b9 SaRard a1 e BE
ST 27

(1). TS ARG

(2) AT FT A

(3) BRI e Agan

@) fft" a=ua

PR @ gReg P WA 1936 # fbd
e A g87

(1) =%

(2), Haddr

(3) "™

@) feoen

mfa= et @ g ¥ i afafifal o1 o=
Io91 79 fhw o # ar?

(1) FRE

Q) gt

@) =

@ =

Ify  0.dcabdcabdcab.........vnovvereeeonn, pu-- W

1111
ar 228 e 2 (a, b, ¢ 3R d ST I

g ol 3 o e 9 ©)

@ 2

2 4

3 6

@ 8
O WE T H ‘+ BT AdAG ‘27, =’ BT 7ol
X, X’ T A ‘-, -’ BT HAAd ‘+”, SURIERT
@e WY & Hed # FEfefaa I sumi w
frar #fg —
B 1 : 5%10-15+20+25+30 = 355
AT : 44-1132x6+6+2-12 = 60
B 111 - (10-5)+50%(25%5)<40 = 50
P ¥ BT GG 7

(1) SaalARII

(2) ®adll IR

() daalARII

@ 0L usiR I
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7. A solid sphere of gold of radius 3 cm is 7. 3 Q. I TP G B B T b1 Wb
melted and three spheres are formed. The T M g9 WY $) 97 Mol @ Ee
radii of two spheres are 1.5 cm and 2 cm. The L5901 ok 294 &) R e @ B
radius of third sphere is equal to - WER & —
1) 25cm 1) 2594
(2) 23cm (2) 2394
3) 2.1cm 3) 2139
4) 1.8cm 4 189
8.  Kudrat Singh of Rajasthan is associated with 8. ORI & gerd RiE fha sl § 99
which handicrafts? g7 ”
(1) UstaKala (1) T Bl
® Biue P 2.5
ue Potte if
4) Meenakariry 8; m
9.  The Sanskrit Pathshala was built at Ajmer by 9. fa dem TS @ g7 oreR W W qEpd
which Chauhan ruler, that was later on ISl §9maTe of)f, 99 AsHR WP A K]
converted by Aibak into Adhai Din Ka & &1 e alse T9ars?
Jhonpra?
(1) Ajayraj OB ERNE
(2) Amoraj (2) 3T
(3) Vigrahraj IV (3). fawrewrer aged
(4) Prithviraj III (4) gdR™ i
10. The dimensions of a cuboid are proportional ~ 10. T &M & faAT¢ 5:3:4 & FwrqURh € | T
to 5:3:4. The total surface area of the cuboid B (ol TSI gAGA 846 a1 WAL B g™
is 846 cm?. Volume of this cuboid is - T AT & —
1) 60 cm’ * (1) 60uF |AL.
2) 540 cm? (2) 540 w9 WAL
3) 1620 cm® () 1620 8 A
@) 4860 cm’ (4) 4860 &= |AL
11. Which of the archaeologist is not related to _H. @9 1961 ¥ 1969 & 3afy & IRA ey 3
the excavation of Kalibanga made dilring the P QT BIAGT B ST F Hafdd
period 1961 to 1969 AD? T &7
(1) R.C. Agrawal (1) SRl SEraret <A
2) B.B.Lal @) . e
(3 B.K. Thapar 3 @7 9w
(4) M.D.Khare K. @ Tl W
2. | 32x-1ox812x-3=%, then value of X is - 12, ofq 32"'1°><812"'3=% B, WX P AE & —
1
a) % 1) 7
@ 3 > &
3 2
3) 2
@ 4
4 4
L .
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13.  The average of scores of 12 students inatest ~ 13. .
is 74. The highest score is 79. Then the 74 ¥ | Seaqd wraid 79 ¥ | @ A T
minimum possible lowest score must be - Tt AT AMeY —

1 17 a 17
® 19 @ 18
S b ® 1

14. The distribution of marks of 100 students is 14, 100 frerfelai & aidl &1 g = aferar 4§

Z?:s;lultlilofloflowmg table. Find the mode of oy T 1 ded B GEAF I e —
Marks | 5055 | 5560 | 60-65 | 65-70 | 70-75 | 7580 T 5035 | 5560 | 6065 | 65-70 | 70-75 | 7580
No. of 13 18 [ 45 | 16 6 2 foemforat | @3 | 18 | 45 | 16 6 2
students o N
(1) 624 1) 624
2) 62 - (2) 62
(3) 61.4 (3) 614
@) 60 @ 60

15. 'Who was made the Chief Minister of Greater )5, gES ISR (30 WTE, 1949) BT GEAT bl
Rajasthan (30 March, 1949)? T TV

(1) Manikya Lal Verma (1)  Fiowrerer gl
(2) Jay Narayan Vyas (2) STEIRET <
(3) Hiralal Shastri (3) e e
(4) Tikaram Paliwal @ _"fm’—m reiTaret

16. “There was never been a musician like 16. “fiper BN qut § ARG H A€ SR
Tansen in India in the last thousands of q:nﬁﬁsrﬁm T8 gaAT|” U8 599 HeT?
years.” Who said this?

(1) Abul Fazl @) IgA B
(2) Badayuni 2) eI
(3) Firishta (3) " BRea
(4) Nizamuddin Ahmad @) fAorEE aEhg

17.  The total surface area of a right circular cone 17, T&® wEeg E BT hd T@-q SEHa
is 1760 cm? and diameter of its base is 28 cm. 1760 o=f ¥ © 3R THS UK BT @M

The curved surface area of the cone is - 28 ?éf‘ﬂ 2| Y| BT TP IO HAGA & —

(1) 1452cm? (1) 145297 A ,

2) 528cm? 2) 5284t .

(3) 1144 cm? 3) 1144 9.

(4) 704 cm? @) 704

OB-0O Page 4 of 16 —
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18.

19.

20,

21.

22.

Ina thool, 32 students study Maths, 28 study
PhySICS and 26 study Chemistry. If there are
in total 40 students in the school and all of
them study at least one of these subjects, what

is the maximum number of students that
could have studied all the three subjects?

1 2

2 4

3) 6

@ 8
The writer of Vansh Bhaskar is -

(1) Padmanabh

(2) Suryamal Misran

(3) Karnidan

(4) Shivdas Gautam
When did Vivekanand attend the Parliament
of the World’s religions in Chicago?

(1) May, 1893

(2) July, 1893

(3) September, 1893

(4) November, 1893

During 1857 revolution the ruler of Karauli
was -
(1)
2

Maharaja Bhagwan Singh
Maharaja Madan Pal

(3) Maharaja Jaswant Singh II |

(4) Maharaja Gopal Singh
Among the following buildings, which ones
are built by the Mughal Emperor Babar?

(a) Kabuli Bagh Masjid (Panipat)
(b) Panch Mahal (Delhi)

(©) Jama Masjid (Sambhal)

(d) Jama Masjid (Hisar)

Select the correct answer using ‘the code

given below -

22.

v e §, 32 faEmdt wftm, 28 «fftr
26 <A I Ued ¥ Al W@el § B 40
fRemeff € 3R ¥ Wl B4 | F9 0 999 Ued
ey farerit 87

@ 2

@) 4

@) 6

@ 8
97 WRPR B AGD & —

4
ﬁfﬁlﬁﬁﬁ 3 Rpr # fAvg o WEg § Pd
a7 foram?

(1) #s, 1893

(2) TS, 1893

(3) faw, 1893

(4) dR, 1893
1857 wifd @ THY BRIl BT AMD AT —

(1) =eRToT WA g

(2) WERIS A& UTd

(3) TERT wHaw g 10

(4) wERNT Tt (g

o= gaRal ¥ | gue reE IR gRT A
ARG & —

(a) FEg 90T ARGIE (@EITE)
(b) YA HES (fEwel)

() I ARSIE (9wel)

@ o ARSI (RER)

9 i T FHe T W R FE IR B
=TT BIIY —

n ab M ab -
(2) ac @ ac
3) cd 3) cd '
@ b.d | @ bd
23.  What was the capital of founder of Pratihar /23. RER & Yeue =R @ eoF o
ruler Harishchandra? ST off?
(1) Jodhpur (1) Gﬁqg-\r
(2) Mt Abu (2) WET Y
(3) Mandore (@) R
(4) Merta @) wear .
OB-0O Page 5 of 16
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. BT ‘P oGP B -

The author of ‘Hind Swaraj’ 15 - 7 1) M TR ifean

(1) Ram Manohar Lohia () @ AT R

(2) Swami Dayanand Saraswat! (j) F@TcAT Tl

(3) Mahatma Gandhi @) Aot T A Pl AN

(4) Maulana Abul Kalam Azad g 25 W g @1 INTIHY §91R—T 7 —
Who was made the Rajpramukh (State head) /5 ' R & IEF P
of Matsya Sangh? 1) 3 N

(1) Ruler of Bharatpur (2) iy P AN

(2) Ruler of Dholpur

(3) Ruler of Alwar

(4) Ruler of Karauli -
' g4l I -

(1) Rywig, shafa g, IRE=
(3) <irbyom, wETwm @ 1
2% 59 fiwen ¥ we o W A fresT T 3 P
) P — i+ (2) IRPR -~ HF + THR
() WaE= — §q + 9= @ @b - fo + g
28, T 9 b v @l R GAMRIG U T &7
(1) memorandum — TR T (2) merger— faezm
A3) correspondence — TATAR (4) obligatory — IR
L29. fbu Rewm F wer fdm o =8 87
1) S - 3T (2) 3T - 9™
(3) Ay — anfreg 4) 3ngaE — fawrg
30w wem # Suwd a1 wnr € gar &7
(1) BHIHR (2) BH9H
{3) @HA 4) BHaIAT
31. Choose the correct tense form — :
New cycle FOUIES. oo and speed limits................... on selected routes.
(1) has been built, has been reduced
(2) is built, have been reduce
(3) are being built, has reduceq
(4) have been built, have beep, reduced
32. Choose the correct passive form —
He gave over the whole programme ¢, the reporter,
(1) The programme is given by the re
] ported.
(2) The reporter gives the Whole
programme,
(3) The reporter has given the whole pro
(4)  The whole programme Wik g programme
33. Choose the correct English tranSlat‘g ven over to g Ieporter, o
(1) emoluments ton of the words Rk BT —
(2) corroborate
(3) compulsory
(4) official decorypy,
OB = o \_///’//
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. Pick the :
ko e h(i:;";‘;‘:}:edll:Ct Sentence for the following indirect sentence —
. €W my name.
:;; i Sa{d, ‘Do you knOW my name.”
5 said to ‘hlm, “Do you know my name?”
4 I aSke((j‘, ‘Did you knOW my name?”
( ) . Say, DO you knOW my name?n
35. Identify the correct ..
If you want ¢ Ct preposition for the blank —
@ in © 80 abroad you must be................. possession of a valid passport.
(2) at
(3) before
(4) through _
36. ﬁ::-ﬁ:geﬂsl; efgllowing which is not a World  36. fmiferfad & & @9 91 U {99 eRiER wIe
: | T8 87
(1) Gagron Fort IRE e
(2) Walled City of Jaj ) ‘
pur (2) SR BT WPHITT AR
(3) Kumbhalgarh BRI
(4) Haldighati G) 2z '
g A4) EREA
37.  In May 2022, Ramgarh Vishdhari Sanctuary 37. ¥ 2022 ¥ 76 Rwemy spaRea &1 U@
has been converted into a tiger reserve. This TR Red # uRafda &~ o w1 21 I8
;an.ctugry q1s located in which district of ATARTY R @ g e § Rerg 87
ajasthan’
(1) Sawai Madhopur (1) R AR
) Karauli 2) el
(3) Bundi &) —i“;';
(4) Kota ) _ _
38. Infollowing three cases A, Band C, the force 38. 0 <1 7g diH uRReifAl A, B = C#, F
F is acting on object of mass m (as shown in A m T F fIvs R o R @1 R (B
figure). The direction of displacement is GG (’ﬂﬂg'q) | fawemas Tﬁ'\' iR & gwr
shown by longer arrow. The work done in SFIT — T G AYB T CH i :
cases A, B and C will be respectively. N
TF F m f— p | F
E —> —
mp— = @ ®) ©
B
(A) (B) o (1) I, TS Tl D
(1) zero, negative and PO Slt;ve (2) I, IS T_AT HOTHS
(2) zero, positive and "egiﬁve (3) GG, I qAT FOTHSD
(3) positive, zer0 ?"d "e§ 2610 @) EUTHS, YTHS AT A
(4) negative, positive i:)'; Mzihi Banswara 39. W&l RIGEISIIRGEES L G LE I G E
3. First pour of c'oncrctecr Project units 1 to 4 ngm 1 § 4 &1 g8 B WE fF9 af
Rajasthan Atomic P Owar" ¥ snférg &7
is expected in which yeat: (1) 2023
(1) 2023 (2) 2024
(2) 2024 (3 2025
3) 2025 @) 2026
d) 2026 = N
\)____/ Pugc 7 of 16 £y ’li ’
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40.

Who according to the following is the

a0,

frfofad @ SF9R, RA WOR BT Yy

27
Principal  Account  Advisor 10 the Hrdr delie b B
Government of India? 1) 9Rd L RCDELY 3R A=Al WS
(1) Comptroller and Auditor General of .
India @) IR
(2) Finance Commission @) =g IGGIKI
(3) Department of Expenditure frd
(4) Controller General of Accounts (4) oTeel o i R
41. Which of the following statement/s about the ~ 41. Arpaar @ o B . > ':ﬁﬁilllla]%q”ail
composition of the House of People is/are B |1/} BT 8 B /8 g 4
true? Identify the correct answer from the # ¥ 98 SR @1 qGT DI —
code given below — A.  de [T $ IfeHad Hag GT 552
A. The maximum strength of the House w2
of the People can be 552. : . =T T
B. At present the strength of the House B. S T B 42
of the People can be 542. gl _ _
C. The House of the People cannot have C. ATE 9T H ISl ¥ 9™ B Oy
rrtlotrc than 530 members from the 5309 3 8 B aoar B
states.  aTeB , .
D. There are 131 seats reserved in the D I T A &ﬁ?ﬁ FI e 131
House of the People: 83 for the T : 83 Irgya wfaat @ fog ai 48
Scheduled Castes and 48 for the IR Senfoat & forg
Scheduled Tribes. He
Code : )
(1) Only A is true (1) Dact A e 2 _
(2) Only B and C are true 2) PTABIR C A&
(3) Only A and C are true (3) FaAAI’R C wEF
(4) Only A and D are true @) FTFTASRD SRS
42. Propanone is a three carbon compound with 42, 9= Th dF BEE e 2, Rrad
the functional group - ﬁaw HIE g -
g; i‘l"ébﬁxz lic.ac1d (1) FEiwf® s
ehyde 2 W
(3) Ketone @) T
(4) Alcohol @ .
43. In which areas of Rajasthan, star sand dunes 4}3. NISRAE & &F 9§ a3 A, AR BT WU
are found? R o ¥
1) Mohangarh area (Jaisalmer) & .
M e Aeisalgpen) () WETTE & (SRIERR) T T d
Suratgarh area (Ganganagar) ( ) '
(2) Sardarshahar area (Churu) & 2 )
. 2) FRRIR &4 (%) vd @ o
Shekhawati area (Sikar) (@)
(3) Siwana area (Barmer) & Phalodi area Q) yaFr 8= @eR) Td w8
(Jodhpur) (Trﬂﬂ'g'\’) ‘
(4) Mohangath area  (Taisalmer) & @) AETTg & (STrR) v e &5
Kolayat area (Bikaner) ()
OB-0
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" which of the following is not 5 Biosphere

Reserve of India? 4,

(1) Pachmarhi

(2) Kachchh

(3) Panna

(4) Valley of flowers

45.  Which of the following statement about the 45.
veto power of the President of India is
incorrect?

(1) The President can disallow such bills
passed by the State Legislature as are
reserved by the State Governor.

(2) The President may also direct the
Governor to return the bill to the
State Legislature for reconsideration.

(3) If the State Legislature returns the
bill to the President, the latter has no
option but to sign it.

(@) The power of direct disallowance of
a bill passed by the State Legislature
will be virtually available to the

President through the Governor.
46. Which company has. commissioned India’s f‘ﬁ
first Wind Solar Hybrid Power Plant of

390 MW in Jaisalmer?

(1) Reliance Power Limited
(2) Suzlon Energy
(3) Tata Power Co. Ltd _
@) AHEJOL, a subsidiary of Adan
Green Energy limited ;o o
4. Which of the following hormone inhibits ;
growth in plants?
(1) Abscisic acid
(2) Gibberellic acid
(3) Auxin
(4) Ethylene
- Page 9 of 16
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ﬁm‘%@ﬁﬁ'ﬁﬁﬁ'ﬂ%mmw
Rard = &2

1) =

2) o

@) w=m

@) @i 3 T

RA & TRy B FuieR wid @ e §

frfaRea & & o9 91 Fue e 27

(1) Igufd g Fenfiar g wikd
U fadge! f sAifed B O §FR
B Hhdl § S SIUIT §RT S
ITAIRT  forv RfEE @ g ¥

(2) Igufd W el @ ww
ZIRNUST §RT AR &% & forg
IUTA B AR FR Fhar 21

(3) I XI5y RS e B g
IOy 9 AWl & O S U™
f¥e @ JgAfRT TR @ I
BIs fAded el ¥§ ol = |

(4) o RN g7 Ok fAEgd B
@I gAfed & dRA B e
CURT B SR IIUTA S A
J 9T B g

fF PRI H WRA BT UEall 390 TH.SY, Bl

qq AR TR TR @@ oueR § g6

fopar &7

1) Rerdg o fafics

(2) gt et

@) < UR & fa

(@) Qﬁﬁﬁaﬁ({a R 1 | e o e (6

| Rifits @ ERS SR
prefalad # | B A1 EEE 99T giE Lol
3 87 |

(1) SR o

2) RreRfes s

@) e

4) STEAN
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. Siferep weEH & B | afefog £ /8 _
48. The functions of educational management 48/ . N
_ a. Fore oo
include/s —
a.  Budgeting b. 3rerEd
b. Record c ol
c. Decision making i
d. Control d. _ o _
Choose the correct answer from options fr=ifed fawear & ¥ 98 SR g;.\[ )
given below -
(1) (a)and (b) 1) (a)3R®)
@ @, ), ad@ @ @ ®), (IR
3) (a),(c)and (d) 3) @, (3R
@ () only @) ()
49. How many members can be nominated by the 49, areafied ReEm 98 IoRE ? 9eAaes
State Government in the organizational set up IR § T AR gRT fhar 9wt o)
of Board of Secondary Education Rajasthan? TJifq fobgr <1 gdar 27 1
1 07 1 07
2 11 @ 11
3 17 @) 17
@ 27 @ 27 |
50. Which of the following is not the ‘5} frafafaa & 9 &9 4 e e @
characteristics of Educational Supervision? faroar =&t 87
(1) Friendly and Democratic (1) W U9 Gaite
(2) Formal only
(3) Improvement of Teaching — learning ) sitoeRa A
process (3) R sfermH uftear # gurR @
(4) Development of whole Educational ’ _
Structure (4) aagut S wemT B Qe
S1.  Recently Indian startup Pixxel has launched 51. g & & YR Wie—aq faga q DD
its first fully fledged commercial satellite WH—vqq BIePI—9 e |y amy TEd
with Musk’s SpaceX Falcon-9 rocket. What QUi ATawIe S I dig fHar 81 $9
is the name of the i -
of the satellite? = BT T A 27
(1) Shakuntala a
MEASEU
(2) Damayanti - ) N
(3) Draupadi @)
(4) Sita (3) =
@)
OB-0O Page 10 of 16
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52.

In exercise of e
Section (1) of §e
Children to Free
Act 2009, the Ce

Power conferred by sub-
ction 29 of the Right of
and Compulsory Education

52.
-
1

frged ol aifard div e @1 AR
FRfFRE 2009 @1 GRT 29 & SU-4RT (1)

. .7 "ie Lentral Government authorise PR N7 g Tl ) IR Rem & forg
wlzch nstitute to lay down the curriculum et q g wlary FeiRd B g
and evaluation procedure for elementary 34@?51?!\ BT T o1
education?
(1) N.CTE. (1) T AL 3.
(2) N.CERT. (2) T OELE AR A,
(3) NIEPA. (3 T amE g 0w
(4) N.ILOS. @) A e, el T
53. At present how many ‘DIETs’ are available 53, = Toiere 1oy # qaa # o ‘SiEe’ Suder
in State of Rajasthan? &7
(1) 30 1 30
(2) 31 (2) 31
(3) 32 3) 32
4) 33 4 33
54. Match the following and select the correct 54. ﬁ'ﬁ'ﬁ?@ﬁ &1 gAfera BT T I v g
answer from code given below — He H W FE W g —
List-1 List - 11 g -1 g - 11
(Industry) (Location) (=) (sraRRerfe)
(A) Leyland Truck (i)  Tonk (A) TIAYS TH (i) <i®
Factory Bag
(B) Instrumentation (ii)  Alwar (B) W@%&F{ - (i) 3T’
limited | fafics
(C) State Tanneries (iii) Kota (C) We TR (iii)  @reT
Limited P foifics
(D) Rajasthan (iv)  Dholpur (D) TSTRRIH (iv) HegR
Explosives & TRIAT TUs
Chemicals Ltd. Bfde fa.
ae:
COde: o
A B C D A B C D
(1 i iii iv i 1 ii iii iv i
(2) iii il i iv (2) ?ii ii i iv
@) i ii i iv @ i i i iv
55.  Which of the following river is having the 55, Fr=fafad 7 & B W & Jroreery 3 qeq
. Jargest river basin arca in Rajasthan? T T IR A T 27
(1) Chambal (1) a9
2) Luni 2)
(3) Banas @) ™
(4) Mahi (4) el
J——-—-——_——\
P 16
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TR T g
56. What position is achieved by Rajasthan in the ;6 el @ EOST; 2;?3};? SHE ’I‘T“'ﬁ 3
recently awarded third National Water 3 Y @ a1 I Ere f &2
Awards 2022, in the category of best states? oTeerr
(1) Teel
(1) First @) TR
(2) Second 3) R
3 Thirdh @ eI
4) Fourt
57. Vflh)lch of the following was not the <5]’ ®e PR BR Farfad) Q@’FBSII (SIQE)
prescribed rtole and responsibilities of Fden @ ded FrEfRad § W 3
S.LE.R.T. under ‘State Initiative For Quality Waﬂs‘&faﬁa & forw @@ o ] e w
Education (SIQE)’ programme? Rreery =81 o017 ;
(1) To ensure and monitor participation 1) B eI IRAT B ARG &)
of government functionaries. e
(2) To ensure active participation of §| e gd P
DIETs and enhance their capacity in @) <Eey B arRR B gRARE s
implementation of the programme oI BraEg Tfafaftd @ AL I
activities. . .
(3) To provide technical support for # AT Gl R DT
effective implementation of (3) W PHRIBAT DI AT B THAR]
programme. .
(4) Regular review of the academic S
inputs. (@) rbretie Mo o T awer |
58. The New Mineral Policy 2015, of Rajasthan  58. XIomens @& =S @it -ifer 2015, frfefaa
is focusing on which of the following LGOI W R WR <l 27
aspects? A. I AURe
A. Zero waste B. e U
B. Due Safety measures C foppTad / AFTe AT
C. Cost eff.ec.tlveness : D. SETEPHaT T HEOT
D. Productivity and Conservation 3
(1) A,BandC (1)’ ABIRC
2) A,CandD (2) A,C3RD
(3) B,CandD (3) B,C3RD
4 A,B,CandD @ A,B,C3RD
59. How many total medals were won by 59. A Wt e J Eel ff R i i
Rajasthan is fourth Khelo India. Youth fFam e o &7
Games?
a1 32 @ 32
(2) 34 (2) 34
(3 36 3) 36
4) 38 4) 38
60. What is urban and rural population 30 2011 B TG P . G P G
percentage to the total state population, as per ST § 9rES 9 T SR BT ufererd
census 2011 respectively? g =T 87
1) 249%-751% 1) 249%-751%
(2) 294%-71.5% 2) 294%-71.5%
(3) 429%-51.7% 3 429%-51.7%
4 292%-70.1% 4 292%-70.1%
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1. Match List-I with List-II and select t o
ect the 61 I o7 fier L | BT 3R gfw

correct answer by using the code given below & 9 Ry 77 FE d A 98 TN B A
the lists — ] L)
List -1 List - II
(A) Karnataka (i) 25 Lok Sabha
Seats
(B) Andhra (i) 26 Lok Sabha
Pradesh Seats
(C) Gujarat (i) 21 Lok Sabha
Seats
(D) Odisha (iv) 28 Lok Sabha
Seats
Code: o
A B ¢« D A B C D
1) il il i iv (1) iii ii i iv
2) 1 i ii iil (2) v i ii iii
@) v i i i @ iv i i iii
@ v i i ii @ v i i i
62. As per the census 2011, which district of 9, GHF@T _2011 D IR, MO & fba
Rajasthan has highest sex ratio? el # fefrgamd waifein &7
(1) Rajsamand M ;
2) Pali @ el
(3) Dungarpur Q) YRR
4) TAMTE

(4) Pratapgarh

63. Where in Rajasthan a lab is located to test ~ 63. H) Uia IRRE D :leﬁ P o b forg
RIS oTeTs H Sal a3 T8 87

samples of Monkey Pox Virus?

(1) Jaipur (DT

2) Jodhpur (2) MR

(3) Udaipur @) SR
(4) Ajmer @) TR

64. Which of the following type of climate is not ~ 64.~- fr=fafag § ¥ a9 9 ST R

found in Rajasthan? { & arlt Sy 22
(1) BWhw (1) BWhw
(2) BSKw @ BSKw

(3) Cwg (3) Cwg

4) Aw 4) Aw

I —
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65. Which of the following is mot the
characteristics of Democratic leadershlp?_
(1) 1It’s governed by the altruistic motive,
work without expectation of reward.

(2) “Welfare of another people” is its
main goal.

(3) The democratic leader serves as
‘master’ of the group rathar than its
‘agent’. i

(4) The democratic leader carries out
decisions and secures actions by
indirect suggestion and setting
example. |

66. For which work writer Asghar Wajahat has

been honoured with Vyas Samman — 20217
(1) Play “Mahabali”
(2) Play “Firangi Laut Aai”
(3) Play “Veergati”
(4) Play “Paak Napaak”

67. Which scheme was launched by school
education department of Govt. of Rajasthan
through Radio during Lockdown in Covid
pandemic?

(1) Jan Vani

(2) Shiksha Vari
(3) Shiksha Darshan
(4) Jan Darshan

68. As per the 20" Livestock Census of
Rajasthan 2019, maximum sheep are found
in -

(1) Alwar

(2) Barmer

(3) Bikaner

(4) Ganganagar

69. In which Schedule of the Constitution, the
state wise allocation of Rajya Sabha seats is
mentioned?

(1) Fourth Schedule
(2) Eighth Schedule
(3) Tenth Schedule

(4) Third Schedule

65. Praferftaa ¥ ¥ PF ¥ FAOD e 3
fygram & 27
REHR B ATEl § ARG 2§
@) I AR T DA THHT g
e B
(3) TS T WE B TR B wy
# a1 od &, 7 5 Fat I vy §
(4) WA AT AT FATE AR Wi
IETERVT UEd HY (Aot B Fafy
&R B B gARad s §)
66+ e a1 @ U oS TR I9IEd B A
T 2021 ¥ gEfAa far war 87
(1) ¥eH “HEEal”
(2) Tew “ff die e
(3) ¥e®d “drRIfa”
@) ¥TF “UF TATUH”
67. DIfds AEMN § o) dipered & eRME WA
ERT RET Sual IR ¥ ORI TR B
et R T gr1 B A Ao ang @
TS o7
(1) % arf
@) o amh
3),.. R g=i=
@) w9 ==
68. TR # 2019 B 20df UIpE vl B
IR, FaIE 4 U ol § —
(1) R A
2) TR A
@A), fETR §
@) TR ¥
69 e A e SR ¥ s W 2 e
BT IR e IfSaRaT 27
(1) =R e
(2) amcdt R
() zudl g
() A SR
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70.

Which of the following statement is

70.
incorrect, when calcium oxide reacts with
water?
1)
(2)
3)

It produces slaked lime.

It releases a large amount of heat.

It is an example of decomposition
reaction.

The coefficients of calcium oxide,
water and product formed is 1 in
balanced chemical equation.

@

frrfen T PUF 3N B, 99
7 "
1)
(2

aﬁzﬁrﬁﬂfmmm

T 59 ST SG~ BIdt

Tet afere A A

g
e Ue fadrer SAfAfhar BT SaTexT

g
ﬁgﬁ-]ﬁmﬁ?ﬁwﬂwﬁ%ﬁ‘wq
siferaTES Wiel 3R U SIS B oM

181
AREE. frEE 2009 FT wEAE 4 f¥ &l

©))
@)

71. Chapter 4 of RTE Act 2009 is related with 71
which area? ¥ grfag 27 _

(1) Duties of Appropriate Government, (1) ¥ EoR, =T wRERT 3R
Local Authority and Parents Hrar fiar @ wied

(2) Responsibilities of Schools and ) el 2R Rrm @ Suedd
Teachers 3) P B ARNPR BT ERET -

(3) Protection of Right of children &; R R &1 urehshH 3R SIDT

(4) Curriculum of Elementary T T ST
Education and its completion . - ‘ _

72. The State Institute of Educational Research  72. EA e A 1 SRl s 1 G yf2reror
and Training (SIERT) now RSCERT was TR (T.3TE $.3MREL), S 39 AR TS,
established on which date and year? %ﬂ:?ﬁ. Ez-q‘m;‘?:ﬁ?m ST & b wermoeT fhd

(1) 10 Oct, 1977 (1) 10 Oct, 1977
(2) 11 Nov, 1978 (2) 11 Nov, 1978
(3) 11 Nov, 1987 (3) 11 Nov, 1987
(4) 10 Oct, 1987 _ (4) 10 Oct, 1987 '_

73.  What is ‘Agni 4’ which was recently tested  73. q&f g'rm%?%’ fRraser g & § Rd A

by India? &1oT :
{1) Inter-mediate Range Ballistic Missile 1) zeERAe 39 fales fasa
(2) Next Generation Corvett (2) RS TRYE BRAC
(3) Anti-Submarine Missile @) T gIEdE A
(4) Inter-Continental Ballistic Missile @) 3R pifeaed fiRed A
74. Which is not a correct match? M. DI ngﬁﬁfﬁ & 87
Industry Lgcation ’ Rerfer
(1) Sodium Sulphate - Didwana (2) W“”gq ' _EIEEBE - SISEICl
(2) Glass - Dholpur 2 (@) - iR
(3) Fertilizer - Gadhepan (3) I - TRUM
(4) Water Meter - Bhiwadi . (4) dfx AR o
75. Bhadla Solar Park, the largest in the world is ~ 75¢ faeg &1 999 F9T '\‘fﬁﬁ’ @R SHAl) g WS
located in - ' araferd & —
(1) Jodhpur (1) SR
(2) Badmer ) ¥R
(3) Jaisalmer (3) SRR
(4) Bikaner @) PR
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